English

This wmeck, our focus mill he fo write an explanation text shout how- tourists spoil holiday
places and how- this could be prevented.

Task |

Learning objective: To use adjectives to develop descriptions.

Learn about/recap mhat adjectives are using the two clips below-.

https://www.bbc.co.uk/bitesize/topics/zrqqtfr/articles/zy2r6yc

https://www.youtube.com/watch?v=IT-G4c2-CHU

Share some sentences with the children - can they accurately identify the adjective in the
sentences.

Task 2
Learning objectirve: To know the features of an explanantion text.

included in this pack.

Task 3
Learning objectirve: To understand the ways different places can be spoilt by tourists.
We're going to focus on oceans and plastics...

https://www.bbc.co.uk/newsround/52896710

https://encounteredu.com/teacher-resources/ocean-plastics-x-curric-ages-5-7

Children mill need to note down mays in which oceans are not being cared for fully by
humans and how- me could take better care of them. This information mill be used in the
following meeek’s learning.



https://www.bbc.co.uk/bitesize/topics/zrqqtfr/articles/zy2r6yc
https://www.youtube.com/watch?v=IT-G4c2-CHU
https://www.bbc.co.uk/newsround/52896710
https://encounteredu.com/teacher-resources/ocean-plastics-x-curric-ages-5-7

the __ man
the car
the  boat

the __ plane

the __ boy
the __ girl
the _ house
the __ cat
the _ dog
the __ mouse

the  school

the __ beach

the  park

the __ shop
' the  shed
r the  table
' the __ pencil




Y1 Information Text: Explanation
Example Text

How is Ice Cream Made?

Ice cream is yummy to eat. We like to eat ice cream
when the weather is hot and we like it for our
puddings. Have you ever wondered how ice cream is
made? This explanation will tell you how.

Mixing the Ingredients

Ice cream is made with milk and cream and sugar.
First, all of the ingredients are mixed together.
Then, the mixed ingredients are heated up to kill

off any germs.

Flavours and Colours

The flavours and colours are added next. Mint
flavour ice cream is green. Strawberry flavour ice
cream is pink.

Frozen and Whipped
The mix is then frozen and whipped at the same
time. This helps to put air into the ice cream. This

makes it softer.

Blast Freezer

Now the mix looks like ice cream. It is put into tubs
and put into a blast freezer. This machine freezes
the ice cream at a very cold -40 degrees. That is as
cold as the North Pole in winter.

How Ice Cream is Made?

1 Ingredients
Milk and cream and sugar
are mixed together.




2 Heating it Up
The mix is heated up to very
high temperatures. This kills
the germs.

3. Flavours and Colours
Yummy flavours are added.

4 Frozen and Whipped
The ice cream is put in a
snerial harrel that mives and

5 Blast Freezer
The ice cream is put into tubs
and frozen at -40 degrees.

Your ice cream has been on quite a journey before
you unwrap it.

Spellings
Please practise these spellings thot contain phose 2 and 3 sounds. Wiite a
sentence for each of the words listed helow: Remember fo use your hest, cursive
I you're in school, we mill practise these and complete a spelling test on the
following Monday.
Good Luck!

ping-pong



Y1 Information Text: Explanation
Example Text Genre Features Checklist

v v v

Did I... Child Friend Tedacher

Structure and Language

use a question title?

write an introduction?

use facts to explain
how something works
or why something
happens

put information into
ordered section

include a picture to
explain something




FrLda%'/s Work..

How to Wrap a Present

il .
SIIITIEIIIEEEL) v porer

—~ Scissors

S

This is what
you will need.

Fold the ends and stick down
with sticky tape.

Write a name on the label
and stick to the present.

|Show next page (Right Arrowj'

Theme B Gifts Instructions

Section A - Cirde the correct answer.

How to Wrap a Present

1 What is the first thing you wrap round a present?

sticky tape paper label

2 What do you do with the ends of the paper?

fold bend wrap tear

Section B - Write a senfence.

3 What do you use to stick the end of the paper in place?

4 What do you write on the label?

5 How do you fasten the label to the present?




PSHE ~ a celebration of Key Workers
Task |

If you are in school please share: “In It Together” from the school
system. I{ you are at home, talk abhout the d%{zrzni pznplz that shone as
kz% wWorkers during Britain's Lockdomwn pzricd. Then we should all

discuss N\/‘J’Ué were those groups 04; pchlz AO mecrtani and how did thzx&

hzlp us? What would w2 Llike to thank them dﬁcr?
Task 2

Return to yesterday's discussion about key workers and saying thanks.
Explain that being thankful or showing gratitude for the good things in
our Llives helps us to feel good and helps to boost our mellbheing. Can
the children think of 3 things that they are thankful for so far today?
These things maybe small, but things that bring a little delight to their
day, 2.g. having a tasty breakfast, getting a hug from a parent, or exven
hawring a kick-around in their garden mrith a family member. Try to refurn
to this gratitude practice each day as a mway of building and maintaining

a hzalth% wzlibzing.
Task 3

Today, we are going to make new rainbom’s of hope for decoration..
These could be made homwener you mish, but the suggestion is using dif-
ferent papers, dramw-ing around hands and cutting them out, to be put to-

gether to form a rainbow.



Ourr Key Weorkers

@9“?
ANZIEE



Maths

Varied Fluency

Step 1: Counting to 100

Counfing to 100

)y

Counting to 100
1a. Circle the number that comes after 1b. Circle the number that comes before
35, A0
34 36 12 30 41 39

W7 -

2a. What is the number shown?

W

2b. what is the number shown?

¢

3a. Fillin the missing card.

3b. Fill in the missing card.

29 31

T

W

4a. There are 10 2ggs in each basket.
How many eggs are there altogether?

4+
) i‘._.‘

N

aww

W

4b. There are 10 fickets in each purple pile.
How many tickets are there altogether?

¢ .




Counting to 100 Counting to 100
5a. Circle the number that comes after &b Circle the number that comes before
&7, BY.
76 65 &8 88 90 a0

W

A

&a. wWhat is the number shown?

&b what is the number shown?

4

7a. Fill in the missing cards.

81 78

7b. Fill in the missing cards.

88 8y

J.'\-

1

T,

|.-I-J

8a. There are 10 eggs in each basketl.
How many eggs are there allogether?

ake ¢
afls ARG

gb. There are 10 fickets in each purple pile.
How many lickels are there altogether?

TICKET |

TICKET |

TICKET |

oz
oG  Fowk
oG  fowE
Ty




Counting to 100

Counting to 100

%a. Circle the number that comes after
ninety-nine.
100

79 78

b Circle the number that comes before
eighty.

a9 79 81

10a. What s the number shown?

106, What is fhe nember shown?

fen tickets ten tickels

1
1
10
1
1
10 1
11a. All in the missing card. 11k. Fill in the missing card.
. AYd ™ i
Nine Eigh
vl e 81 ghty
-two -three
" AN & % \, /
12a. How many seeds are there 12b. How many fickels are there
altogether? alicgether?
ten fickets fen Boketls  one ficket
ten seeds ten seeds fenseeds fen seeds -
one ficket
M M ¢ @

ten seeds fen seeds




Vared Fluency
Counfing to 100

54. &6
&0, 52
a. 60, 7¥
da. &2

Greaber Depth

Fa. 100

Tda. 31

114a. 73 or ninety-three
12a. &3

Vared Fluency
Counfing to 100

Developing
1b. 3%
2b. 15
3b. 30

4b. 40

Expecied
5h. BB

sb. &£
7h. 70, 1
8b. &3

izreater Depth

#b. sevenky-nine
10b. 25

11b. &2 or eighhy-bwo
12b._42



Reasoning and Problem Solving

Step 1: Counting to 100

Counting to 100 Counting to 100
1a. Here is part of a hundred square._ Fillin | 1b. Here is part of a hundred sguare. Fill in
the missing squares. the missing squares.
30 4 g
3?
48 | 49 25 | 26 28 | 29
i A
ey Tof
2a. Hillary says: 2b. Frankie says:

/lﬂm going \ | am going to \\
/ count to 29. 1 / count to 45. | |

N () willstartat37 | | A ) wilstartat3s |

i

» and count and count -
\ I:u:lu:l-:wcids \\E forwards. f/

e i

will she say the nuember 307 will he say the number 357
Explain your reasoning. Explain your reasoning.
A M
el 150
3a. Casey has counted strawbemies. &b. Jane has counted her crayons. Some
some of them are on plates of 10 of her crayons are sorfed infe grouwps of
strawbermies. 10 crayons.
He thinks there are 7 sirawbermies. she thinks there are 35 crayons.
Explain his mistake. Explain her mistake.
.- ‘- ‘.;""' . .__.-"';-_il;."" . .__.-"';._il;""' .
- e | e |
|'-='a§'.=a§'.=-.-| 4 1 FAERL 1 Y
| W S | ¥ SR | T W S
TakY  TaskY ‘Tas®
T aa,-99 ~¥%
e S p=Ey —
| e e, | i i
[T & & | = =
..El_’-p ?‘-E':u' = E_: =
i W
P L X = A




Counting to 100

Counting to 100

4a. Here is part of g hundred sguare. Fill in

the missing squares.

45 | 46

4b. Here is part of o hundred square. Fill in
the missing squares.

| am going to
count to 54. 1
will start ot &7
and count
baclwards.

will she say the nember £47
Explain your reasoning.

%

| am going to
count to 96. |
will start at 89
and count
forwards.

will he say the number 837
Explain your reasoning.

1Ty

&a. Mark has counted his frophies. He
thinks there are 50 rophies.

Explain his mistake.

&b. Ava has counted her crayons. She
thinks there are 45 crayons.

Explain her mistake.

10 10 10 10

Crayons cCrayons Crayons cCrayons

10 10
A 10

P "-'L'_HI?

CTOyons

Crayons Crayons




Counting to 100

Counting to 100

7a. Here is part of a hundred square. Fill in
the missing squares.

7b. Here is part of a hundred square. Fill in
the missing squares.

26

70

Ba. Ioe says:

1 am going fo
count to eighty-
three. | will stark
at ninety-ocne
and couwnt
bockwards.

N

will she say the nwmber 807
Explain your reasoning.

8b. Hunter says:

1 am going fo
count fo eighty. 1
will start at sihy-

nine and cownk
forarards.

will he say the number 797
Explain your reasoning.

fa. Ross has quickly counted his marbles.
He thinks there are 54 marbles.

Explain his misiake.

#b. Yasmin has counted her crayons. She
thinks she has &6 crayons.

Exolain her mistake.

ten ten fen ten

Crayocns crayons oCrayocns Ccroayons

ten ten fen

SOy Ons crayons Crayons




Eeasoning and Problem Solving
Counting to 100

7 | 8 | ¥ | 30

35 | 36 |37 |38 | 3

47 [ 48 | 49

2a. Hilkary will say the number 30 because
30 is before 37 and affer 27.

3a. Casey has not counfed grovps of ten
sirawbemes. There are 43 sirowbemes.

Expecied
4. gs | as | a7 49 | 50

5| 56 | 57 | 58 | &9

5a. vy will say the number 44 because 44
comes after 54 and before 47.

&a. Mark has couvnfed frophies as groups
of ten insiead of ones. There are 32

frophies.

Gregter Depth

7a.

EIIH- | 3

8a. Zoe will not say the number 80
becavse it comes before the number B3
and she is counfing bockwards from 71.
0. Ross has counted 10 more marbles
fhan there are. There are 44 marbkles.

=i | 2| 56

Reasoning and Problem Solving

Counfing to 100
Developing
1b.
| 9
1%
29 | ab

2b. Frankie will nof say the number 35
because it is before 3é&.

ib. Jane has couvnted an exira ten
crayons. There are 25 crayons.

Expecied

5b. Rob will not say the number 83
because 83 comes before 87,

&b. Ava has missed one of the packs of 10
crayons. There are 75 crayons.

regter Depth
7b.

L2 R | 5% | &0

&8 | &F | T

T8

8b. Hunfer will say the number 7% becauvse
it comes after £% and before 80 and he is
counfing forward

¥b. Yasmin has counted 4 less crayons.
There are 72 crayons.



Varied Fluency

Step 2: Partitioning Numbers

Partitioning Numbers Partiticning Numbers
1a. True or false? 1b. Tree or false?
Ters Orvers T Tens Cnes
Trse or
false¥ ]
: m lalse?
[ ]
[ = L -
14 ™ 25
Tens Chnas Tens Cries
] True or ] Trise o
- false? n false?
L |
_ L —
=32 n =17

% |7

2a. Complete these part whole models. 2b. Complete these part whole models.

3a. Maich a diagram to a nember. 3b. Mailch a diagram fo a number.
13 35 2 45 17 25 34 42
S
w7 387
4a. Complete the sentences. 4b. Complete the senfences.
12  has fers and oS, 23 haos fenz amd CHNE S
hvims 2 fers  and 1 ones. has i fens and 7 OrvEs.
28 hvims feris  cnd ories. 3%  has fers and OIS,
hvms 5 feris  ond 4 ories. has 2 fers and 5 S




Partitioning Numbers

Partitioning Numbers

5a. True or falsa?

5b. True or false?

fens Cirvees Toue of Tens Cines
- folse? ™ True of
- - falze?
| [ ]
= 33 = = 54
Tens Cnes Tens Ciries
] True ox BB True of
Y false? Tl false?
= mn
]
. =74 ] = B
L |

44 I::::-mpl_e_re- these part whole models.
N )
[ 5
N —
JA I
e\ (A
NC ,/’ o x f“ h DN

&b. Complete these part whole models.

rf"’ T
F“w f N

xi{
)f’
| '"'h J

7a. malch a diagram o a number.

7b. Mmalch a diagram fo a number.

Gad a7 44 dé L | 48 39 T2
Ba. Complete the sentences. a8b. Complete the senfences.
3F  has fterns and OIS, B4  haos fenz anrd TS
hwms g feris  and ¥ ories. has i fens and g O,
[T fers  ond ones. 4%  hasz fens and oS,
hvms & fers and i ones. has 9 fens and 2 oS,




Partitioning Numbers

Partitiocning Mumbers

#a. True or false?

True or false?

#h. True or false?

W W MW 1

W W MW 1

40 + 9

True of false?

10a. Complete these part whole models.

(O WD

10b. Complete these part whole models.

ws))

11a. Mmatch a diagram to a number.

T7 17 T 11

11k. Malch a diagram to a number.

53 14 24 43

12a. Complete the senfences.

A¥  has

fers and s,

hems 4 bfens ond 11 ones

B4 s & bens mnd ores.
hems & bfens ond 18 ones

12b. Complete the sentences.

&7 haos fens and ones.
has d fens and 15 ones
4% has ¥ | fens and s,
has ¥ fers and 22 ones




Vared Fluency
Parifioning Numbers

Developing

1a. False. The diagram shows the number
24,

True

Za.ld=10+1+1+%1+%1

J2=10+ 10+ 10+ 2

3a. The first diagram matches 24 and the
second diagram matches 13.

4a. 12 =1 tens and 2 ocnes

25 = 2 fens and 5 ones

28 = 2 tens and 8 ones

34 = 3 tens and & ones

5a. False. The diagram shows the number
43,

True

4O 35 =I0D+T+T1+1+1+%1

&4 =10+10+ M0+ 10+ 10+ 10+ 4

7a. The first diagram matches 44 and the
second diagram matches 37.

8a. 37 = 3 tens and 7 ocnes

57 = 5 tens and 7 ones

84 = 8 tens and 4 ones

&8 = & tens and 8 ones

Greater Depth

#a. False. The Base 10 blocks show 54,
whereas the Numicon shows 44,

True

T3, 27, 44

114. The first diagram matches 11, the
second diagram matches 77 and the third
diagram matches 17.

12a. 37 = 3 fens and 7 ones

51 =4 tens and 11 ones

84 = & ftens and 24 ones

78 = 8 tens and 18 ones

Varied Fluency
Farfitioning Numbers

Developing

1b. True

False. The diagram shows the number 15.
2b.43=10+10+ 10+ 10+ 3
B=A+T+1+1T+1+1+1+1+1

3b. The first diagram matches 17 and the
second diagram matches 34.

4b. 23 = 2 tens and 3 ones

17 =1 tens and 7 ones

3% = 3 tens and ¥ ones

28 =2 tens and 8 ones

Expected

5b. True

False.The diagram shows the number 88.
4b.72=10+10+10+ 10+ 10+ 10+ 10+2
4=+ 1 +1+1+1+1+1

7b. The first diogram matches 37 and the
second diagram matches 48

8b. 54 = 5 tens and 4 ones

85 = 8 tens and 5 ones

43 = & tens and 3 ones

72 = ¥ tens and 2 ones

Greater Depth

¥b. False. The place value counters show
£2, whereas the Base 10 blocks show 52
True

10b. 43, 3&

11b. The frst diagram matches 24, the
second diagram matches 53 and the third
diagram matches 14.

12b. &7 = & tens and 7 ones

55 = 4 tens and 15 ones

43 =3 tens and 33 ones

72 =7 tens and 22 ones



Reasoning and Problem Solving

Step 2: Partitioning Numbers

LN | — - m

Partitioning Numbers

A p— py T

Partitioning Numbers

1a. Susie has 3 place value counbers.

1b. Sulyman has 4 place valee counters.

10 1 10 1
:i'ld the diferent total amounts she could :m:l the different total amounis she could
OO0 QOO
OO0 OOOO
S [ OO0O

2a. Harrisen has completed the diagram.
Do you think he has done it comecily?
Explain how you know.

zreater than 15 Less than 15

O&

2b. Freddie has completed the diagram.
Do you think he has done it comectiy?
Explain how you know.

zreater than 18 Less than 18

OF

3a. Use place value counters o make a
number which has less than 5 fens and

more than 7 ones.

Tens dines
1o 1

Can you find three diferent answers?

<

3b. use place valve couvnters to make a
number which has less than 2 tens and

more thon & ones.

Tens Ones
1 i

Can you find three different answers?

et




Partitioning Numbers

Partitioning Numbers

4a. Ebony has 5 place value counfers.

10 1

Find the diferent total amouwnis she could
have.

OOOOO

A
=i
=<

4b. Hamza has & place valuve counbers.

10 1

Find the different total amownis she could
have.

000000

.{“,s

s5a. Jayden has completed the diagram.
Do you think he has done it comechy?
Explain how you know.

Greater than 40 Less than 47
72 63 74
27 K
1.:;:

sb. Friya has completed the diagram. Do
you think she has done it comecty?
Explain how you kmnow.

izreater than 5

YR
NN

II.-"\-\.?

Less than 40

£a. Use place value counters o make a
number which has more than 7 tens and

less than 3 ones.

Tens ones
o 1

Can you find five different answers?

P
md

&b. Use place valve couvniers to make a
number which has less than 5 tens and

miare than & ones.

Tens ones
- i

Can you find five diferent answers?

%oy




Partitioning Numbers

Partitioning Numbers

7a. saffron has a mixture of place value
counters.

10 1

she wants to make a number greater
than 55, but she only has 4 fens.

10 10 10 10

How can she do if?

7. Jerry has a mixture of place value
counfers.

10 1

He wants to make a number greater than
&2 but he only has 4 tens.

10 10 10 10

How can he do i#?

ga. Josie has completed the diagram. Do
you think she has done it comecily?
Explain how you know.

zreater than 75 Less than 75
r»/f-’mz-ns1:|n-hh\-\~ /;’remnn
i 15 ones " 12 ones "

& tens and &ftensand
\\1 ¥ ones / 25 -::nes

ab. Feter has completed the diagram. Do
yvou think he has done it comeciy?
Explain how you know.

=redgter than &85 Less than &5
//(r;ns -::m:l /’rens un:N
{ 18 ones . 14 ones
[
7 fens and

|
"'\\manes//

\ & fens and ."
\2& c-ne;/
—

7a. Use place valve counters fo make a

number which has bebween 5 and 7 tens
and 14 ones.

Tens ones
10 1

Can you find all the possible answers?

7b. Use place valve cownlers o make a

number which has less than 4 tens and 17
OMEs,

Tens Ones

Can you find all the possible answers?




Reasoning and Problem Solving

Farificoning Numbers

Developing
1a. The possible answers are 12 and 21.

2a. Harmrison & incomrect. ¥ is not grealker
than 15 and 14 is not less than 15.

3a. Three numbers from the following: 48,
4%, 38, 3%, 28, 27, 18, 15.

Expecied

4a. The possible answers are 41, 32, 23
and 14.

5a. Jayden is incomect. 27 is nof greater
than &0 and 74 is not less than 47.

&4a. The possible answers are: 82, &1, 80,
#2, 91 and #0.

Greater Depth

7a. 5affron needs o vse 4 fens and aft least
14 ones fo make a number greater than
55.

8a. Josie is nof comecl becavse she has
made an emor. & tens and 25 ones = BS
which is not less than 75.

0. The possible answers are &4, 74, 84

Reasoning and Problem Solving
Fariioning Numbers

Developing

1b. The possible answers are 13, 22 and
31.

2b. Freddie is incomect. 18 is not greater
than 18 and 17 is not less than 18.

3b. The three possible numbers are 17, 18
and 17.

Expecied

4b. The possible answers are 51, 42, 33, 24
and 15.

5b. Friya is incomect. ¥3 & not grealer than
75 and 55 and 42 are not less than 40.

&b. The possible answers are: 47, 48, 4%,
37,38, 39, 27.26,29. 17,18, 19,7, 8. and %.

Greafer Depth

7b. Jemy needs o vse 4 fens and at leask
23 ones fo make a nember greafer than
-

8b. Feter is not comect because he has
made an emor. 7 tens and 1& ones = B4
which is mot less than &5.

¥b. The possible answers are 17, 27, 37
and 47.



Art: Lesson 2



Topic: Lesson 7—Locations

1.05 Know that the world extends beyond their own locality and that the places they
study exist

within a broader geographical context

Research activity

Using maps and globes, begin by locating the children’s host country. Work together to
find the country we live in. Use your maps to locate other towns, cities

and landmarks that the children may have heard of (such as the capital city). The chil-
dren will also need to locate Greece and Brazil as their Class names. Colour the coun-

tries and label with name.

If you wish, you could use Google Earth to view aerial maps and zoom in to view specific
cities and locations. (google.com/earth/). Ask the children to describe the position of
these locations in relation to the school. Encourage use of compass directions and di-

rectional language.
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Topic: Lesson 8

Explore the world map further. Prompt the children to identify neighbouring countries
and the continent which their country belongs to. Expand further, to identify the seven
continents and five oceans. Again, use directional language to help the children to
move around their maps, making frequent reference to the host countries’ location.
For example:

Which ocean/continent do we think is nearest/furthest away from our school?

If we were travelling to this continent by the shortest route, which countries and
oceans would we pass over?

Which is the biggest/smallest continent? How does their size compare to our own?

Based on what they have learned, ask the children to use their maps to find out where
their favourite holiday place is in the world. Ask them to make a note of:

Its name

The country itisin..

Any countries that are nearby
The continent it is on.

Provide assistance as necessary to help the children to read and understand their
maps.

Colour and label continents and oceans on world map.
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Topic: Lesson 9 (Secret topic lesson)

Fathers day cards.

Allow the children some creative time to make a fathers day
card for their dads. (Or an alternative famil member in differ-
ent circumstances)

Once made, children to write a nice message inside.



Art



PE

Game 3 Musical Statues Equipment: Either a loud singing
rvoice, or some music! Children can dance, or do different on
music stops, they must freeze. The last person to stop mov-
joining in with movements). The last person still in, is the

MWUNN2r,

Game 4 Game 4 - Shadow- Tag Closer contact game Equip-
ment: None This adivity requires plenty of space and lots
of sunshine! Hamve the children pair up, but stay apart and
Designate one child as the "malker’ and the other the “tagger.”
Ask the children to find their shadows. On the signal “go
her shadow: Have the children switch roles and continue
playing. Teaching Suggestions: You may have to explain the
and active. To eliminate touching (and possibly knocking a
on the partners shadow:
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